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(ppm) B4 8 TR 0.8 0.6 0.8 0.9 0.9 1.0 0.7 0.8 0.8 0.5 0.6 0.7 9
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(ppm) Bt 8 ] ETIOE 0.012 0.034 0.039 0.013 0.038 0.018 0.023 0.058 0.050 0.037 0.033 0.040 0.06
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TSP3 24 ] pE g 63 165 192 140 153 80 110 153 152 100 155 143 250
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(igl\//[r;f-*) & Dzj ﬁi—@ 33 78 81 69 84 41 50 70 71 46 78 64 125
PNhé 24 ] pEiE — — 50 — — 35 — 55 — 30 35
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25 LREHABLATIRS*:REL
105Q1
o ]i’?““‘}" A: | A | A. | B. | B | B. | Cc. | Cc | ca ?j;;i
pH 8.1 8.1 8.1 8.2 8.1 8.1 8.1 8.1 8.1 7.5~8.5
KE(C) 278 | 278 278 | 279 | 278 278 | 278 | 278 27.7 —
R o 52 53 52 5.3 5.3 52 5.3 52 5.1 >5.0
T F 2.6 22 2.1 2.4 22 2.4 1.8 1.5 1.2 —
BE 34.1 342 | 342 34.1 34.1 342 342 | 342 342 —
P A (m) 1.1 1.1 1.1 12 12 12 1.1 1.1 1.1 —
AL <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <3.0
tETFE | 102 5.7 9.8 10.7 9.6 10.8 | 221 9.3 112 —
& Bk 0.013 | 0.023 | 0.014 | 0.014 | 0.015 | 0.016 | 0.012 | 0.016 | 0.008 -
& F 0.14 | 017 | 0.16 0.09 | 0.10 | 0.12 0.12 0.11 0.12 -
2% 0.27 0.25 0.26 0.09 0.10 0.08 0.08 0.10 0.09 —
E RS 1 0.06 | 0.07 | 0.07 0.07 | 006 | 0.07 0.08 0.08 0.10 —
A 0.32 0.35 0.35 0.07 0.12 | 024 | 0.12 0.11 | ND. —
I AL 0.04 | 0.05 0.04 0.02 | <0.02 | <0.02 | 0.02 | <0.02 | 0.02 —
R <1.0 | <1.0 | <1.0 | <1.0 | <10 | <10 | <10 | <10 | <10 2.0
E N ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. 0.01
(SFE/*f‘O?E) <10 | <10 | <10 | <10 | 25 | <10 | 20 25 30 -
b <0.002 | <0.002 | <0.002 | <0.002 | <0.002 | <0.002 | <0.002 | <0.002 | <0.002 |  0.05
& ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. 0.010
4 <0.005 | <0.005 | <0.005 | <0.005 | <0.005 | <0.005 | <0.005 | <0.005 | <0.005 | 0.050
A ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. 0.002
4 0.0005 | 0.0005 | 0.0006 | N.D. | ND. | ND. | ND. | ND. | ND. 0.030
& 0.0005 | 0.0005 | 0.0006 | N.D. | ND. | ND. | ND. | ND. | ND. —
& ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. 0.100
& 0.0022 | 0.0023 | 0.0022 | 0.0023 | 0.0022 | 0.0024 | 0.0020 | 0.0020 | 0.0020 | 0.500
#% | ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. —
,| &8# | ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. —
e i+ | ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. —
i 4 | ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. —
" M #74> | <0.005 | <0.005 | <0.005 | <0.005 | <0.005 | <0.005 | <0.005 | <0.005 | <0.005 -
- &+ | ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. —
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